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Solution. IBy problen. 40 bbls. and 60 elests=space.
And 24 " " 54 " = 3 space.

32 " " 72 " = space.
8 " = 12
1 = 1

40 " = O
60+60 120 " car would hol.

And ï x 1'20 80 bble. " " "
7. A tailorbought 4 pieces of cloth, cach containing 30yards, 3·75

quarters, at $2 per yard. He sold å of it at 82.20 per yard, and
nmade up thie reniainder into suits, eaci containing 7 yds. 2 Ira.,
Ihicl lie sold for $18.50 each. fHow much did he gain ï

Solution. 30 yds., 3·75 qrs. x4=123J yds.
123 X82=8247.50 cot of cloth.

41 yds. x -2.20=$90.75 prico of cloth sold.
82 " ÷74yds.=11 suits.
li x $18.50=S203.50 price of suits.

$203.50 x 290.75=$294.25- 247.50=846.75 gain.
8. A nian walking at the rate of 2 miles an hour, walks around

a fielh, whose length is lalf as much aiga as its breadth, mi 15
minutes. Find th: length and breadthi of the field.

Solution. 2½ Iiles=80 rods.
ln 60 niln. ho wallks 800 rods.
:. " 13 "

15 " " 200 "

:.200--2100 sumn of length and breadti.
B3y probleni, sides ate as 3 to 2.
:. Ï (f 100=40 roda in breaidth,

and o of 100=60 " lengtlh.
9. A ierchant bouglt 60 yards of lt oadcloth, 14 3 ards wide, for

$4 per yard, but the clothi being wet slirank ... of its luigth anld
breadth. For what mnust it bo sold per iquare yard to gain ) of
cost ?

Solttion. 60 x 84=S240 cost.
of $240=,$288 selling price.

of A × * of of=103.1 equare yards.
S288÷103A=$2.77.. AIs.

10. By selling sugar at $42 per barrel of 280 Ibs., 1 'gain ¾ of
cost. What fraction of the cost is gaiied by selling ait 813.50 per
cwt ? Ais. J.

Solution. If 280 Ibs. are sold for $42.
.. 1 lb. is " 15c.
If 100 lbs. are " $13.50.
. 11h. is " l31c.
If of cost-15c.

:4 " - .c.
:.j " =12c.

:.1 3½-1 2 1Ac. gain pier lb.
:. H ¾ Anis.

11. A person, starnding oni one side of a strait, nioticedl that hie
hecard the report of a cannionî, fired on the opîposite site, 44 seconds
before the ball situck ani object necar haim. If sound travelIs 1,140
feet per second, aînd a cauamon ball, on an average, 800 feet per
Eeconid, find~ Ihe wîidtlî of he strait T Axis. 2½? umIes.

Solution. In 1 sec. ball travels 800 reet.•
:. "4 " " 3,400 fee, distance gainedr by

sound im crossmng.
By problemn: sounrd gains 340 feet in 1 sec.

. "1 footLin .h "
:."3,400 feet ii 10 sec. timie in whichr

sounrd crosses.
:1140 x 10÷5280=2.J1 nmiles4. Ans.

12. A locomiotive, whiose drivinîg whieeal is 192 inchies in circumi-
ferenîce, mnakt.s the ruin fronî Tuî0anto to Haniî,lton, a distance of 40
miiles, ini 1¾ hours, allowing 15 mîir.utes for stoppages. W~hat is the
average numnber of revolutions miade by thec wl.eel per miinute'<
Ans. 146§j.

Solution. .192÷12=10 feet circumaferenice.
40×x5280=211200 distance in feet.

2l1200÷<J0=234G'š distance in feet travelled per minute.
234Gj+r16 14G1 revolutions. Anis.

13. A miill-îace 60 feet long 5 feeat 6 inches wide, is frozen to a
depthi of 8 inches. If w ater exprands å, of its bulk ini freezinîg, and
a pint of watcr cent ains 34·50 cubic inchles, flid how mnany gallons
of watcr the ice conîtainas, anîd the wveight of thec ice ini tor.s, if a
gailh nî cf nater seighas 10 lbas, avoir.

Solution. 60 x 1 .x 'ýg =220 cub. feet of ice in race
If M =220
:*. jý=200 o

If 34.66 cub. in).=1 pint
200 x 1728 cub. in. =10000 pints or 1250 gallons.

If, gallon weiglis 10 Ib.
1250 gallons weiglh 12500 Ibo. or 6. tons.

14. A farimer has a pile of wood for whiclh lie is ofl'ered $40.00
by une pnrty ; another offers him 84.00 ier cord. If tlie pile is 6
feet hiigh and 4 feet inde, low long must it bo thait lie May gaim
82.00 by tle latter offer? .

Solution. By problei $42.00=second ofier.
42.00--4.00-10ý 1o. of cords.

10A x 128=1344 cub. ft. in pile.
:434+24=56 feet lenîgtlh of pile.

15. A stesaier whose rate of siiling is 10I miles per hotur, leaves
Sioutlaiipton for Bruce Mines, a distance of 175 miles, at 6 o'clock

a.mî. Another whicle caves at 45 minutes past 10 c'cloek a.m.,
arrives at Bruce Mines 15 minutes before the first. Compare their
rates of sailing.

Solution. Firat steamer sails i miles per hour.

:." a "175 " 163
arrives at B. M. 40 Miin. past 10 p.m.

and second "< & . " 25 "l " 10 p.mî.
:. "i "anakes the trip in 10à hours.

175÷10 =15 miles rate pier hour of second.
rates are as 10 to 15,

:. " " 7to 10. Aus.
16. A man bouglit a house, wilhiclh cost hin of purchaso money

to put in repairs ; it then atood eipty for a year, durinîg which
tiie hereckîoned lie was losiig 216 of his total ouitlay. He then
sold for $1192.00 gaining ' of purchase hmionîey. What did lie give
fur tle house ?

Solution. Let 1 = cost.
of repairs.

X i=loss by being empty.
:. × total cost of lieuse.

anld x = selling price.
:. M =81192

:. =1000. Ans.
17. A gentleman on arriving at Halifax, vhich is in 63' 36' west

long., set his watch te truo time. Wliat tia will ls watclh in-
dicate at ioon, whein lie arrives at Quebec in west longitude, 71°,
12', 15".

Solution. 71°, 12', 15"-63°, 3G'=7°, 3G', 15"=27375" dif. in Lonr.
Tiere are 360' in a circle and 1440 minutes in a day.

1440÷3G0=4 inilu. for every degrec of Lon.
and 1° =3600'.
If 3600" =4 min. dif. in tiare,

:.1" =-°
27375" =30", 25 sec.

30 min. 25 sec. past 12 o'clock is the tine by lis watcli.
18 .If the price of gold bo 820.C0 un oz., anid alloy 75 cents per

oz., find tle price of an ornaient wveighinisg 3 ozs., 1W carats fine,
allowinig i of the cost of the niaterial for nîrkmanship.

Solution. By problen, gold=16 parte out of 24,
:.gold=g of ornaient or.2za.. and alloy=l oz.
.2 oz. x $20.00=840.00,

and 1 oz. x 75c. =75 cents.
:. :.×840.75=850.93. coit of ornaient.

10. A clateri can bu filled by two pipes, A alld B, in 4 minnutes,
and five minutes resprectively, and eniptied by C in 2ý minutes. A
is opened for 2 minutes, then A and B together for 1 minute, whîen
C is also opencd. In what tinie would tle cistean whielh now coin-
tains 361 gallons be full ? qua how many gallons wourld have pa d
througlh A. and B respectively ? Ans. 1 .nin. 473 and 190.

Solution. By problem-
A is open for 3 min. filling i of cisteri.

AndB 4 " 1 " " > "
p+ = iart filled. C empties ) I a tuin,

+- r.- part filled in 1 min. whien all 3 are open.
If A is filled in 1 min.

:. aro i a. 3 0 "

:. i a" a Anls. or time required to fill cisteri.


